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Cuadro 13 (continuación 6)/Table 13 (continued 6)
Honduras: tablas abreviadas de mortalidada

Honduras: abridged life tables 
a

2010

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.034 0.033  100 000  3 278  97 244 0.961 b 6 995 874 70.0
1 4 0.004 0.014  96 722  1 350  383 390 0.990 c 6 898 630 71.3
5 5 0.001 0.005  95 373   499  475 616 0.995 6 515 240 68.3

10 5 0.001 0.004  94 874   399  473 373 0.995 6 039 624 63.7
15 5 0.001 0.006  94 475   598  470 881 0.992 5 566 251 58.9
20 5 0.002 0.010  93 877   901  467 132 0.989 5 095 370 54.3
25 5 0.003 0.013  92 976  1 191  461 902 0.986 4 628 239 49.8
30 5 0.003 0.016  91 785  1 436  455 336 0.983 4 166 336 45.4
35 5 0.004 0.018  90 349  1 666  447 581 0.980 3 711 000 41.1
40 5 0.004 0.022  88 683  1 947  438 548 0.975 3 263 419 36.8
45 5 0.006 0.027  86 736  2 361  427 779 0.969 2 824 871 32.6
50 5 0.007 0.036  84 375  3 014  414 342 0.957 2 397 092 28.4
55 5 0.010 0.050  81 361  4 034  396 722 0.940 1 982 750 24.4
60 5 0.015 0.072  77 328  5 550  372 763 0.911 1 586 028 20.5
65 5 0.022 0.107  71 777  7 646  339 771 0.869 1 213 265 16.9
70 5 0.034 0.159  64 131  10 218  295 109 0.805  873 494 13.6
75 5 0.053 0.236  53 913  12 748  237 692 0.717  578 385 10.7
80 5 0.083 0.343  41 164  14 116  170 532 0.603  340 693 8.3
85 5 0.127 0.478  27 048  12 935  102 904 0.469  170 162 6.3
90 5 0.192 0.631  14 113  8 905  48 302 0.329  67 258 4.8
95 5 0.287 0.781  5 208  4 066  15 874 0.163 d  18 957 3.6

100 ω 0.371 1.000  1 142  1 142  3 082  3 082 2.7
Mujeres/Females

0 1 0.025 0.024  100 000  2 422  97 892 0.970 b 7 492 479 74.9
1 4 0.003 0.012  97 578  1 191  387 180 0.991 c 7 394 587 75.8
5 5 0.001 0.004  96 387   401  480 936 0.996 7 007 407 72.7

10 5 0.001 0.003  95 987   325  479 120 0.996 6 526 472 68.0
15 5 0.001 0.005  95 661   435  477 220 0.995 6 047 351 63.2
20 5 0.001 0.006  95 226   600  474 631 0.993 5 570 132 58.5
25 5 0.002 0.008  94 626   779  471 182 0.991 5 095 501 53.8
30 5 0.002 0.010  93 847   968  466 815 0.989 4 624 318 49.3
35 5 0.003 0.013  92 879  1 170  461 472 0.986 4 157 503 44.8
40 5 0.003 0.015  91 710  1 411  455 021 0.983 3 696 031 40.3
45 5 0.004 0.019  90 299  1 734  447 158 0.978 3 241 010 35.9
50 5 0.005 0.025  88 565  2 211  437 296 0.971 2 793 852 31.5
55 5 0.007 0.034  86 354  2 949  424 396 0.958 2 356 556 27.3
60 5 0.010 0.049  83 405  4 103  406 767 0.939 1 932 160 23.2
65 5 0.015 0.074  79 302  5 867  381 842 0.907 1 525 393 19.2
70 5 0.024 0.114  73 435  8 403  346 166 0.855 1 143 551 15.6
75 5 0.039 0.179  65 032  11 622  296 103 0.777  797 386 12.3
80 5 0.064 0.276  53 410  14 741  230 196 0.667  501 283 9.4
85 5 0.104 0.412  38 669  15 924  153 534 0.526  271 088 7.0
90 5 0.167 0.579  22 745  13 165  80 812 0.370  117 554 5.2
95 5 0.265 0.752  9 580  7 207  29 882 0.187 d  36 742 3.8

100 ω 0.346 1.000  2 373  2 373  6 860  6 860 2.9

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


